Antonio Manuel Moya,¹ Virginia Velma Fernández,² and Waldyr Alves Rodrigues, Jr.³

Received December 15, 1999; revised January 28, 2000

We present the Lagrangian formalism for multiform fields on Minkowski spacetime based on the multiform and extensor calculus. The formulation gives a unified mathematical description for the relativistic field theories including the gravitational field. We work out examples including the Dirac–Hestenes field on the gravitational background.

1. INTRODUCTION

The multiform and *extensor* fields over Minkowski spacetime provide a unifying language for the field equations, including gravitation (Hestenes, 1966; Hestenes and Sobczyk, 1984; Rodrigues and de Souza, 1993, 1994; Moya 1999; Moya *et al.*, 2000a). A review, including new mathematical topics, is in preparation (Moya *et al.*, 1999a, b). A multiform Lagrangian formalism using rigorous mathematics is lacking, despite some previous attempts (Lasenby *et al.*, 1993; Rodrigues and de Souza, 1994; Rodrigues *et al.*, 1995). In this paper, we provide such a theory. In our formalism, different kinds of Lagrangians which occurs in physical theories are treated with the same mathematics. We include the identities (the tricks of the trade) necessary for the derivation of equations of motion. In Moya *et al.*, (2000a, b), we present a Lagrangian formulation for the gravitational field as a distortion field (an extensor field) on Minkowski spacetime. There, we show that the

0020-7748/01/0100-0299\$19.50/0 © 2001 Plenum Publishing Corporation

¹Institute of Mathematics, Statistics and Scientific Computation, IMECC-UNICAMP CP 6065, 13081-970 Campinas, SP, Brazil.

²Institute of Physics Gleb Wataghin, IFGW-UNICAMP, 13083-970 Campinas, SP, Brazil.

³ Institute of Mathematics, Statistics and Scientific Computation, IMECC-UNICAMP, CP 6065, 13081-970 Campinas, SP, Brazil, and Center for Research and Technology, CPTEC-UNISAL, 13087-290 Campinas, SP, Brazil; e-mail: walrod@ime.unicamp.br, walrod@cptec.br

²⁹⁹

formulation of the same problem by Lasenby et al., (1998) is a non sequitur. The gravitational field as a distortion field appears in Rodrigues and de Souza (1993).

In the sequel, M is a 4-dimensional manifold diffeomorphic to R^4 oriented by the volume element 4-form τ_n and time-oriented. A Lorentzian flat metric is $\eta \in \sec T_2^0(M)$ and D^{η} is the Levi-Civita connection of η (Sachs and Wu, 1977). The multiform calculus on Minkowski spacetime $(M, \eta, \tau_n, D^{\eta})$ is enhanced once we use an affine space (M, \mathcal{M}^*) , where \mathcal{M}^* , the dual of $\mathcal{M} \approx$ R^4 , is the vector space of the structure.

Given a global coordinate system over $M \ni x \leftrightarrow x^{\mu}(x) \in R$, $\mu = 0, 1$, 2, 3, associated to a inertial reference frame (Rodrigues and Rosa, 1989) at $x \in M, \langle \partial/\partial x^{\mu} |_{x} \rangle$ and $\langle dx^{\mu} |_{x} \rangle$ are the bases for the tangent vector space $T_{x}M$ and the tangent covector space T_x^*M ,

$$\mathbf{\eta} = \mathbf{\eta}_{\mu\nu} \, d_x^{\mu} \otimes dx^{\nu}, \qquad \mathbf{\eta}_{\mu\nu} = \mathbf{\eta} \left(\frac{\partial}{\partial x^{\mu}}, \frac{\partial}{\partial x^{\nu}} \right) = diag(1, -1, -1, -1)$$

Definition 1.1 (Minkowski space). $T_x M \ni \mathbf{v}_x$ is said to be equivalent to $\mathbf{v}_{x'} \in T_{x'}M$, written $\mathbf{v}_{x} = \mathbf{v}_{x'}$, if and only if

$$\mathbf{\eta}_{(x)}\left(\frac{\partial}{\partial x^{\mu}}\Big|_{x}, \mathbf{v}_{x}\right) = \left.\mathbf{\eta}_{(x')}\left(\frac{\partial}{\partial x^{\mu}}\Big|_{x'}, \mathbf{v}_{x'}\right), \qquad \left.\frac{\partial}{\partial x^{\mu}}\Big|_{x} = \left.\frac{\partial}{\partial x^{\mu}}\Big|_{x'}\right.$$

The set of equivalent classes of tangent vectors over the tangent bundle, $\mathcal{M} = \{\mathscr{C}_{\mathbf{v}_x} | x \in M\}$, is a vector space, called Minkowski vector space.

A natural basis for \mathcal{M} is $\langle \mathcal{C}_{\partial/\partial x^{\mu}|_{x}} \rangle$. With $\vec{v} \equiv \mathcal{C}_{\mathbf{v}_{x}}$ and $\vec{e}_{\mu} \equiv \mathcal{C}_{\partial/\partial x^{\mu}|_{x}}$, we can write $\vec{v} = v^{\mu} \vec{e}_{\mu}$.

Definition 1.2. The dual basis of $\langle \vec{e}_{\mu} \rangle$ is $\langle \gamma^{\mu} \rangle$, i.e., $\gamma^{\mu} \in \mathcal{M}^* \equiv \Lambda^1(\mathcal{M})$ and $\gamma^{\mu}(\vec{e}_{\nu}) = \delta^{\mu}_{\nu}$.

Definition 1.3. The 2-tensor over \mathcal{M} , $\eta: \mathcal{M} \times \mathcal{M} \to R$, such that for each $\vec{v} = \mathscr{C}_{\mathbf{v}_x}$ and $\vec{w} = \mathscr{C}_{\mathbf{w}_x} \in \mathcal{M}: \eta(\vec{v}, \vec{w}) = \eta_{(x)}(\mathbf{v}_x, \mathbf{w}_x)$, for all $x \in M$, is called a Minkowski metric tensor.

For $\vec{e}_{\mu} \equiv \mathscr{C}_{\partial/\partial x^{\mu}|_{x}}$, we have $\eta_{\mu\nu} = \eta(\vec{e}_{\mu}, \vec{e}_{\nu})$. To vector \vec{e}_{μ} corresponds a form $\gamma_{\mu} = \eta_{\mu\nu}\gamma^{\nu}$. There exists an isomorphism between \mathcal{M} and $\Lambda^{1}(\mathcal{M})$ given by $\mathcal{M} \ni \vec{a} \leftrightarrow a \in \Lambda^{1}(\mathcal{M})$, such that if $\vec{a} = a^{\mu}\vec{e}_{\mu}$, then $a = \eta_{\mu\nu}a^{\mu}\gamma^{\nu}$ and if $a = a_{\mu}\gamma^{\mu}$, then $\vec{a} = \eta^{\mu\nu}a_{\mu}\vec{e}_{\nu}$.

Definition 1.4. A scalar product of forms can be defined by

$$\Lambda^{1}(\mathcal{M}) \times \Lambda^{1}(\mathcal{M}) \ni (a, b) \mapsto a \cdot b \in R$$

such that if $\vec{a} \leftrightarrow a$ and $\vec{b} \leftrightarrow b$, then $a \cdot b = \eta(\vec{a}, \vec{b})$.

 (M, \mathcal{M}^*) equipped with the scalar product (1.1) is a representation of Minkowski spacetime. We denote by $Cl(\mathcal{M}) \approx Cl(1,3) \approx \mathbf{H}(2)$ the spacetime algebra, i.e., the Clifford algebra (Lounesto, 1997) of \mathcal{M}^* equipped with the scalar product defined by (1.1). As \mathbb{R} -space, $\mathscr{C}(M) = \sum_{p=0}^{4} \Lambda^{p}(\mathcal{M})$.

The reciprocal basis of $\langle \gamma^{\mu} \rangle$ is $\langle \gamma_{\mu} \rangle$, $\gamma_{\mu} \cdot \gamma_{\nu} = \eta_{\mu\nu} = \gamma^{\mu} \cdot \gamma^{\nu} = \eta^{\mu\nu}$, $\gamma^{\mu} \cdot \gamma_{\nu} = \delta^{\mu}_{\nu}$, $\eta = \eta_{\mu\nu}\gamma^{\mu} \otimes \gamma^{\nu} = \eta^{\mu\nu}\gamma_{\mu} \otimes \gamma_{\nu}$. The oriented affine space (M, M^*) (oriented by $\gamma^5 = \gamma^0 \wedge \gamma^1 \wedge \gamma^2 \wedge \gamma^2$)

 γ^3) is a representation of the Minkowski manifold.

Definition 1.5 Let $\langle x^{\mu} \rangle$ be a global affine coordinate system for (M, \mathcal{M}^*) relative to an arbitrary point $o \in M$. A position form associated to $x \in M$ is the form over \mathcal{M} , designed by the same letter, given by the following correspondence

$$M \ni x \leftrightarrows x = x^{\mu} \gamma_{\mu} \in \Lambda^{1}(\mathcal{M})$$

Definition 1.6. A smooth multiform field A on Minkowski spacetime is a multiform valued function of position form, $\Lambda^1(\mathcal{M}) \ni x \mapsto A(x) \in \Lambda(\mathcal{M})$.

Definition 1.7. Let
$$0 \le p, q \le 4$$
. A (p, q) -extensor *t* is a linear mapping

t:
$$\Lambda^p(\mathcal{M}) \to \Lambda^q(\mathcal{M})$$

The set of all (p, q)-extensors is denoted by $ext(\Lambda^p(\mathcal{M}), \Lambda^q(\mathcal{M}))$. A smooth (p, q)-extensor field t on Minkowski spacetime is a differentiable (p, q)extensor-valued function of position form, $\Lambda^1(\mathcal{M}) \ni x \mapsto t_x \in ext(\Lambda^p(\mathcal{M}))$, $\Lambda^q(\mathcal{M})$).

Definition 1.8. Let a be a form. The a-directional derivative of a smooth multiform field X, denoted as $a \cdot \partial X$, is defined by

$$a \cdot \partial X = \lim_{\lambda \to 0} \frac{X(x + \lambda a) - X(x)}{\lambda} = \frac{d}{d\lambda} X(x + \lambda a)|_{\lambda = 0}$$

The γ_{μ} -directional derivative $\gamma_{\mu} \cdot \partial X$ coincides with the coordinate derivative $\partial X/\partial x^{\mu}$, $\partial_{\mu} \equiv \gamma_{\mu} \cdot \partial$.

Definition 1.9. The gradient, divergence, and curl of a smooth multiform field X are defined by

gradient:
$$\partial X = \gamma^{\mu}(\partial_{\mu}X)$$

divergence: $\partial X = \gamma^{\mu} \lrcorner (\partial_{\mu}X)$
curl: $\partial \land X = \gamma^{\mu} \land (\partial_{\mu}X)$
 $\partial X = \partial_{\lrcorner}X + \partial \land X$

2. LAGRANGIAN MAPPINGS $(X, \partial * X) \mapsto \mathcal{L}(X, \partial * X)$

Let *X* be a smooth multiform field over the Minkowski spacetime *M* and let * mean any one of the multiform products (\Box), (\land), or Clifford product. Hestenes and Sobczyk (1984) introduced the multivector derivatives, the ordinary multiform derivatives $\partial * X$, i.e., the divergence, the curl, or the gradient of *X*. The dot product of Definition 1.5 is extended in a natural way to all $Cl(\mathcal{M})$ as follows: $\forall X, Y \in \Lambda(\mathcal{M}), X \cdot Y = \langle X \tilde{Y} \rangle_0$. Note that it is an operation different from the left and right contractions (Rodrigues *et al.*, 1995; Lounesto, 1999; Moya *et al.*, 2000).

Definition 2.1 (Lagrangian mapping). A differentiable scalar-valued function of two multiform variables \mathcal{L} : Im $X \times \text{Im } \partial * X \to R$, where Im X means image of the multiform field X, etc., will be called the Lagrangian mapping (LM) associated to X.

Definition 2.2 Let X be any smooth multiform field; then $\hat{\mathscr{L}}[X]$ is a smooth scalar field defined by $\Lambda^{1}(\mathscr{M}) \ni x \mapsto \hat{\mathscr{L}}[X](x) \in R$ such that $\hat{\mathscr{L}}[X](x) = \mathscr{L}[X(x), \partial * X(x)].$

The operator $\hat{\mathcal{L}}$ will be called the Lagrangian operator and the smooth scalar field $\hat{\mathcal{L}}[X]$ will be called the Lagrangian scalar field associated to *X*. In abuse of notation, in what follows, the Lagrangian mapping \mathcal{L} and the Lagrangian scalar field $\hat{\mathcal{L}}[X]$ will be symbolized simply by $(X, \partial * X) \mapsto \mathcal{L}(X, \partial * X)$.

Definition 2.3. To any LM $(X \ \partial * X) \mapsto \mathcal{L}(X, \partial * X)$, the *action* for the multiform field X (on $U \subseteq M$) is the scalar, i.e., a real number,

$$S = \int_{U} \hat{\mathcal{L}}[X](x) d^{4}x = \int_{U} \mathcal{L}(X, \partial * X) d^{4}x$$

Take an arbitrary smooth multiform field *A* with the property $A = \langle A \rangle_X$ (i.e., *A* and *X* contain the same grades) such that it vanishes on the boundary ∂U (i.e., $A|_{\partial U} = O$) and take an open set $S_0 \subset R$ containing zero.

Definition 2.4. The following λ -parametrized smooth scalar field will be called the varied Langrangian:

$$\Lambda^{1}(\mathcal{M}) \times S_{0} \ni (x, \lambda) \mapsto \mathscr{L}[X + \lambda A](x) \in R$$

$$(2.1)$$

$$\mathscr{L}[X + \lambda A](x) = \mathscr{L}[X(x) + \lambda A(x), \,\partial * X(x) + \lambda \partial * A(x)]$$
(2.2)

In abuse of notation, the varied Lagrangian sometimes will be denoted by $\mathscr{L}(X + \lambda A, \partial * X + \lambda \partial * A)$.

Definition 2.5 (Varied action). The following λ -parametrized scalar, i.e., an ordinary scalar function of the real variable λ , is called the varied action:

$$S_0 \ni \lambda \mapsto S(\lambda) \in R, \qquad S(\lambda) = \int_U \hat{\mathscr{L}}[X + \lambda A](x) d^4 x$$
$$S(\lambda) = \int_U \mathscr{L}(X + \lambda A, \partial * X + \lambda \partial * A) d^4 x$$

Definition 2.6. Given any smooth multiform field X and Lagrangian scalar field $\hat{\mathscr{L}}[X]$, the variational operator δ_X is defined by $\Lambda^1(\mathscr{M}) \ni x \mapsto \delta_X \hat{\mathscr{L}}[X](x) \in \mathbb{R}$,

$$\begin{split} \delta_X \hat{\mathcal{L}}[X](x) &= \frac{d}{d\lambda} \, \hat{\mathcal{L}}[X + \lambda A](x)|_{\lambda=0} \\ &= \frac{d}{d\lambda} \, \mathcal{L}[X(x) + \lambda A(x), \, \partial * X(x) + \lambda \partial * A(x)]|_{\lambda=0} \\ \delta_X \mathcal{L}(X, \, \partial * X) &= \frac{d}{d\lambda} \, \mathcal{L}(X + \lambda A, \, \partial * X + \lambda \partial * A)|_{\lambda=0} \end{split}$$

In Lagrangian field theory, the dynamics of a multiform field X is supposed to satisfy the condition of stationary action AP,

$$S'(0) = 0, \quad \forall A \text{ such that } A|_{\partial U} = O$$
$$\int_{U} \delta_{X} \mathcal{L}(X, \partial * X) \ d^{4}x = 0, \ \forall A \text{ such that } A|_{\partial U} = O$$

The AP implies the Euler-Lagrange equation (ELE) for the multiform field X, i.e., the field equation for X.

Proposition 2.7. Given a dynamical variable X on $U \subseteq M$ and a LM $(X, \partial * X) \mapsto \mathcal{L}(X, \partial * X)$, where * is respectively (a) \neg , (b) \land , or (c) the Clifford product, the *AP* implies for the cases (a)–(c), respectively, the following ELEs:

(a) $\partial_X \mathscr{L}(X, \partial \ \ X) - \partial \land \partial_{\partial \ X} \mathscr{L}(X, \partial \ \ X) = O$ (b) $\partial_X \mathscr{L}(X, \partial \land X) - \partial \ \partial_{\partial \land X} \mathscr{L}(X, \partial \land X) = O$ (c) $\partial_X \mathscr{L}(X, \partial X) - \partial \partial_{\partial X} \mathscr{L}(X, \partial X) = O$

Proof. We prove case (c). The X-variation of $\mathcal{L}(X, \partial X)$ yields

$$\delta_{X} \mathscr{L}(X, \partial X) = A \cdot \partial_{X} \mathscr{L}(X, \partial X) + \partial A \cdot \partial_{\partial X} \mathscr{L}(X, \partial X)$$

Using the identity (A.3), we have

$$\delta_{X} \mathscr{L}(X, \partial X) = A \cdot [\partial_{X} \mathscr{L}(X, \partial X) - \partial \partial_{\partial X} \mathscr{L}(X, \partial X)] + \partial \cdot [\partial_{a} (aA) \cdot \partial_{\partial X} \mathscr{L}(X, \partial X)]$$

The AP yields

$$\int_{U} A \cdot (\partial_{X} \mathscr{L} - \partial \partial_{\partial X} \mathscr{L}) d^{4}x + \int_{U} \partial \cdot [\partial_{a}|(aA) \cdot \partial_{\partial X} \mathscr{L}] d^{4}x = 0 \quad (2.3)$$

for all *A* such that $A|_{\partial U} = O$.

Using the Gauss–Stokes theorem with the boundary condition $A|_{\partial U} = O$, the second term gives

$$\int_{U} \partial \cdot \left[\partial_{a}(aA) \cdot \partial_{\partial X}\mathscr{L}\right] d^{4}x = \oint_{\partial U} \gamma^{\mu} \cdot \left[\partial_{a}(aA) \cdot \partial_{\partial X}\mathscr{L}\right] d^{3}S_{\mu}$$
$$= \oint_{\partial U} A \cdot \left(\gamma^{\mu}\partial_{\partial X}\mathscr{L}\right) d^{3}S_{\mu} = 0 \qquad (2.4)$$

Putting (2.4) into (2.3) gives

$$\int_{U} A \cdot \left[\partial_{X} \mathscr{L}(X, \, \partial X) - \, \partial \partial_{\partial X} \mathscr{L}(X, \, \partial X)\right] d^{4}x = 0, \quad \forall A$$

and due to the arbitrariness of A, we get

$$\partial_X \mathscr{L}(X,\,\partial X) - \,\partial \partial_{\partial X} \mathscr{L}(X,\,\partial X) = O \quad \blacksquare$$

3. LAGRANGIAN MAPPINGS $(X, \mathfrak{D} * X) \mapsto \mathcal{L}(X, \mathfrak{D} * X)$

Let X be a smooth multiform field on $(U \subseteq M, \mathcal{M}^*)$ and let h be an invertible (1,1)-extensor field $(h_x: \mathcal{M}^* \ni x \mapsto ext(\Lambda^1(\mathcal{M}), \Lambda^1(\mathcal{M})))$ called the *gauge metric extensor field* (which is a representation of the gravitational field in the most general possible gravitational theory over Minkowski spacetime). Also, define $h^* = (h^{-1})^{\dagger} = (h^{\dagger})^{-1}$. Consider the operators \mathfrak{D}^* , where * means any multiform product (\Box) , (\land) , or the Clifford product acting on the set of smooth multivector fields. They are called the *h*-divergence $\mathfrak{D} \sqsupseteq X \equiv h^*(\partial_a) \sqsupset \mathfrak{D}_a X$, the *h*-curl $\mathfrak{D} \land X \equiv h^*(\partial_a) \land \mathfrak{D}_a X$, and the *h*-gradient $\mathfrak{D}X \equiv h^*(\partial_a)\mathfrak{D}_a X$.

 $\mathfrak{D}_a X$ is a directional covariant derivative obtained from the Levi-Civita directional covariant derivative D_a , $\mathfrak{D}_a X = h(D_a h^{-1}(X))$ studied in the theory of connections in Fernández *et al.*, 2000b; Moya *et al.*, 2000a, b),

$$\mathfrak{D}_a X = a \cdot \partial X + \Omega(a) \times X$$

Ω is called the second connection extensor field, $Ω_x$: $Λ^1(M) → Λ^2(M)$, $\forall x ∈ M^*$, $Ω_x(a) = -\frac{1}{2} ∂_{n(x)} ∧ 𝔅_a n(x)$.

In theories which make use of the gauge-covariant derivative concept, the action for the multiform field X [on $(U \subseteq M, \mathcal{M}^*)$], with dynamics given by a LM $(X, \mathcal{D} * X) \mapsto \mathcal{L}(X, \mathcal{D} * X)$, the action is postulated to be the scalar

$$S = \int_U \mathcal{L}(X, \mathcal{D} * X) \ d^4x$$

Take an arbitrary smooth multiform field A with the property $A = \langle A \rangle_X$ such that $A|_{\partial U} = O$ and take an open set $S_0 \subset R$ containing zero.

Definition 3.1. The A-varied action for the multivector field X (on $U \subseteq M$) is the λ -parametrized scalar

$$S(\lambda) = \int_U \mathscr{L}(X + \lambda A, \mathscr{D} * X + \lambda \mathscr{D} * A) d^4x$$

The dynamics of the multiform field X is supposed to satisfy the AP

$$S'(0) = 0, \quad \forall A \text{ such that } A|_{\partial U} = O$$

$$\int_U \delta_x \mathscr{L}(X, \mathfrak{D} * X) d^4 x = 0, \quad \forall A \text{ such that } A|_{\partial U} = O$$

where

$$\delta_{x} \mathscr{L}(X, \mathfrak{D} * X) = \frac{d}{d\lambda} \mathscr{L}(X + \lambda A, \mathfrak{D} * X + \lambda \mathfrak{D} * A)|_{\lambda = 0}$$

is the X-variation of $\mathcal{L}(X, \mathfrak{D} * X)$.

Proposition 3.2. Given a dynamical variable X and an LM

$$(X, \mathfrak{D} * X) \mapsto \mathscr{L}(X, \mathfrak{D} * X) = \det(h)l(X, \mathfrak{D} * X)$$

where * is respectively (a) \neg , (b) \land , or (c) the Clifford product, the AP implies for the cases (a)–(c) the following ELEs:

(a) $\partial_X l(X, \mathfrak{D} \sqcup, X) - \mathfrak{D} \wedge \partial_{\mathfrak{D} \sqcup X} l(X, \mathfrak{D} \sqcup X) = O$ (b) $\partial_X l(X, \mathfrak{D} \wedge X) - \mathfrak{D} \sqcup \partial_{\mathfrak{D} \wedge X} l(X, \mathfrak{D} \wedge X) = O$ (c) $\partial_X l(X, \mathfrak{D} X) - \mathfrak{D} \partial_{\mathfrak{D} X} l(X, \mathfrak{D} X) = O$

Proof. We prove case (b). Using the multiform identity (A.7), the X-variation of $\mathcal{L}(X, \mathfrak{D} \wedge X)$ yields

$$\begin{split} \delta_X \mathscr{L}(X, \mathfrak{D} \wedge X) &= \det(h) [A \cdot \partial_X l(X, \mathfrak{D} \wedge X) + \mathfrak{D} \wedge A \cdot \partial_{\mathfrak{D} \wedge X} l(X, \mathfrak{D} \wedge X)] \\ &= \det(h) A \cdot [\partial_X l(X, \mathfrak{D} \wedge X) - \mathfrak{D} \lrcorner \partial_{\mathfrak{D} \wedge X} l(X, \mathfrak{D} \wedge X)] \\ &= \partial \cdot [\det(h) \partial_a (h^*(a) \wedge A) \cdot \partial_{\mathfrak{D} \wedge X} l(X, \mathfrak{D} \wedge X)] \end{split}$$

The AP action yields

$$\int_{U} \det(h)A \cdot (\partial_{x}l - \mathfrak{D} \lrcorner \partial_{\mathfrak{D}\wedge X}l(d^{4}x) + \int_{U} \partial \cdot [\det(h)\partial_{a}(h^{\star}(a) \wedge A) \cdot \partial_{\mathfrak{D}\wedge X}l] d^{4}x = 0$$
(3.1)

for all A such that $A|_{\partial U} = O$.

Using the Gauss–Stokes theorem with the boundary condition $A|_{\partial U} = O$, the second term gives

$$\int_{U} \partial \cdot [\det(h)\partial_{a}(h^{\star}(a) \wedge A) \cdot \partial_{\mathfrak{D}\wedge X}l] d^{4}x$$

$$= \oint_{\partial U} \det(h)\gamma^{\mu} \cdot [\partial_{a}(h^{\star}(a) \wedge A) \cdot \partial_{\mathfrak{D}\wedge X}l] d^{3}S_{\mu}$$

$$= \oint_{\partial U} \det(h)A \cdot [h^{\star}(\gamma^{\mu}) \sqcup \partial_{\mathfrak{D}\wedge X}l] d^{3}S_{\mu} = 0 \qquad (3.2)$$

Putting Eq. (3.2) into Eq. (3.1), we have

$$\int_{U} \det(h) A \cdot \left[\partial_{X} l(X, \mathfrak{D} \wedge X) - \mathfrak{D} \lrcorner \partial_{\mathfrak{D} \wedge X} l(X, \mathfrak{D} \wedge X)\right] d^{4}x = 0 \quad \text{for all} \quad A$$

and due to the arbitrariness of A, we finally get

$$\partial_X l(X, \mathfrak{D} \wedge X) - \mathfrak{D} \lrcorner \partial_{\mathfrak{D} \wedge X} l(X, \mathfrak{D} \wedge X) = O$$

The proofs of (a) and (c) can be obtained by using the multiform identities (A.6) and (A.8). \blacksquare

4. LAGRANGIAN MAPPING $(\psi, \mathfrak{D}^{s}\psi) \mapsto \mathscr{L}(\psi, \mathfrak{D}^{s}\psi)$

Let ψ be a smooth Dirac-Hestenes spinor field (DHSF) on $(U \subseteq M, \mathcal{M}^*)$. We can take the *gauge spinor derivative* (Rodrigues *et al.*, 1995; Fernández *et al.*, 2000b) $\mathfrak{D}^s \psi \equiv h^*(\partial_a)\mathfrak{D}^s_a \psi$ [recall that $\mathfrak{D}^s_a \psi \equiv a \cdot \partial \psi + \frac{1}{2}\Omega(a)\psi$ is the *directional spinor derivative*] and consider an LM(ψ , $\mathfrak{D}^s\psi) \mapsto \mathscr{L}(\psi, \mathfrak{D}^s\psi)$.

Definition 4.1. The action for a DHSF ψ (on $U \subseteq M$) is

$$S = \int_U \mathscr{L}(\psi, \mathfrak{D}^s \psi) \ d^4 x.$$

If we take an arbitrary smooth DHSF η such that $\eta|_{\partial U} = O$ then the so-called ψ -variation of $\mathscr{L}(\psi, \mathfrak{D}^s \psi)$ is

$$\delta_{\psi} \mathscr{L}(\psi, \mathfrak{D}^{s} \psi) = \frac{d}{d\lambda} \mathscr{L}(\psi + \lambda \eta, \mathfrak{D}^{s} \psi + \lambda \mathfrak{D}^{s} \eta)|_{\lambda=0}$$

Proposition 4.2. Given a DHSF ψ as dynamical variable and a LM $(\psi, \mathfrak{D}^{s}\psi) \mapsto \mathscr{L}(\psi, \mathfrak{D}^{s}\psi)$, the *AP*

$$\int_U \delta \psi \mathscr{L}(\psi, \mathfrak{D}^s \psi) \ d^4 x = 0$$

for all η such that $\eta|_{\partial U} = O$ implies the ELE

$$\partial_{\psi} l(\psi, \mathfrak{D}^{s}\psi) - \mathfrak{D}^{s}\partial_{\mathfrak{D}^{s}\psi} l(\psi, \mathfrak{D}^{s}\psi) = O$$

Proof. The ψ -variation of $\mathscr{L}(\psi \mathfrak{D}^{s}\psi)$ is

$$\delta \psi \mathscr{L}(\psi, \mathfrak{D}^{s}\psi) = \det(h) \eta \cdot \left[\partial_{\psi} l(\psi, \mathfrak{D}^{s}\psi) + \mathfrak{D}^{s}\eta \cdot \partial_{\mathfrak{D}^{s}\psi} l(\psi, \mathfrak{D}^{s}\psi)\right]$$

and using the multiform identity (A.12), we have

$$\begin{split} \delta \psi \mathscr{L}(\psi, \mathfrak{D}^{s}\psi) &= \det(h)[\eta \cdot \partial_{\psi} l(\psi, \mathfrak{D}^{s}\psi) - \mathfrak{D}^{s} \partial_{\mathfrak{D}^{s}\psi} l(\psi, \mathfrak{D}^{s}\psi)] \\ &+ \partial \cdot [\det(h)\partial_{a}(h^{\star}(a)\eta) \cdot \partial_{\mathfrak{D}^{s}\psi} l(\psi, \mathfrak{D}^{s}\psi)] \end{split}$$

The *AP* can be written for all η such that $\eta|_{\partial U} = O$

$$\int_{U} \det(h) \eta \cdot (\partial_{\psi} l - \mathfrak{D}^{s} \partial_{\mathfrak{D}^{s} \psi} l) d^{4}x + \int_{U} \partial \cdot \left[\det(h) \partial_{a}(h^{\star}(a) \eta) \cdot \partial_{\mathfrak{D}^{s} \psi} l\right] d^{4}x = 0$$
(4.1)

The second term can be integrated using the Gauss–Stokes theorem with the boundary condition $\eta|_{\partial U} = O$

$$\int_{U} \partial \cdot \left[\det(h) \partial_{a}(h^{\star}(a)\eta) \cdot \partial_{\mathfrak{B}^{s}\psi} l \right] d^{4}x$$

$$= \oint_{\partial U} \gamma^{\mu} \cdot \left[\det(h) \partial_{a}(h^{\star}(a)\eta) \cdot \partial_{\mathfrak{B}^{s}\psi} l \right] d^{3}S_{\mu}$$

$$= \oint_{\partial U} \det(h)\eta \cdot \left[h^{\star}(\gamma^{\mu}) \partial_{\mathfrak{B}^{s}\psi} l \right] d^{3}S_{\mu} = 0 \qquad (4.2)$$

Putting (4.2) into (4.1), we get

$$\int_{U} \det(h) \eta \cdot \left[\partial_{\psi} l(\psi, \mathfrak{D}^{s} \psi) - \mathfrak{D}^{s} \partial_{\mathfrak{D}^{s} \psi} l(\psi, \mathfrak{D}^{s} \psi) \right] d^{4}x = 0 \quad \text{for all} \quad \eta$$

Since η is arbitrary, it follows that

$$\partial_{\psi} l(\psi, \mathfrak{D}^{s} \psi) - \mathfrak{D}^{s} \partial_{\mathfrak{D}^{s} \psi} l(\psi, \mathfrak{D}^{s} \psi) = O \quad \blacksquare$$

5. EXAMPLES

5.1. Maxwell and Dirac-Hestenes Lagrangians

(a) The Lagrangian associated to the Maxwell field A: $\mathcal{M}^* \to \Lambda^1(\mathcal{M})$, i.e., the electromagnetic potential generated by an electric charge current density J: $\mathcal{M}^* \to \Lambda^1(\mathcal{M})$, is

$$\mathscr{L}(A, \partial \wedge A) = -\frac{1}{2\mu_0} (\partial \wedge A) \cdot (\partial \wedge A) - A \cdot J$$

The Euler-Lagrange equation is

$$\partial_A \mathscr{L}(A, \partial \wedge A) - \partial \lrcorner \partial_{\partial \wedge A} \mathscr{L}(A, \partial \wedge A) = O$$

Then, the Maxwell field A and the Faraday field $F = \partial \wedge A$ satisfy the equations

$$\partial \lrcorner (\partial \land A) = \mu_0 J, \qquad \partial F = \mu_0 J$$
(5.1)

The second equation in (5.1) is the Maxwell equation in the spacetime calculus formalism (Hestenes, 1966).

(b) DHSF are certain equivalence classes of even sections of $Cl(\mathcal{M})$. For details, see Rodrigues *et al.* (1995). In quantum mechanics, the Lagrangian associated to the DHSF $\psi: \mathcal{M}^* \to \Lambda^0(\mathcal{M}) + \Lambda^2(\mathcal{M}) + \Lambda^4(\mathcal{M})$, corresponding to a particle with mass *m*, electric charge *e*, and spin $\frac{1}{2}$ (i.e., a Dirac particle) in interaction with the Maxwell field *A*, is

$$\mathscr{L}(\psi, \,\partial\psi) = \hbar(\partial\psi \mathbf{i}\gamma_3) \cdot \psi - e(A\psi\gamma_0) \cdot \psi - mc\psi \cdot \psi, \qquad \mathbf{i} = \gamma_0\gamma_1\gamma_2\gamma_3$$

A thoughtful study of the Dirac-Hestenes Lagrangian which shows hidden assumptions in the usual presentation can be found in De Leo *et al.* (1999). To get the ELE, we need

$$\partial_{\psi} \mathcal{L}(\psi, \, \partial \psi) = \hbar \partial \psi \mathbf{i} \gamma_3 - 2eA\psi \gamma_0 - 2mc\psi$$
$$\partial_{\partial \psi} \mathcal{L}(\psi, \, \partial \psi) = -\hbar \partial_{\partial \psi} (\partial \psi \cdot \psi \mathbf{i} \gamma_3) = -\hbar \psi \mathbf{i} \gamma_3$$

where the following multiform derivative formulas have been used:

$$\partial_X (X \cdot X) = 2X, \qquad \partial_X (X \cdot Y) = \langle Y \rangle_X,$$

 $\partial_X [(YXZ) \cdot X] = \langle YXZ + \tilde{Y}X\tilde{Z} \rangle_X$

The DHSF ψ satisfies the Dirac equation, called the Dirac–Hestenes equation (Hestenes, 1996) in the spacetime calculus formalism,

 $\hbar \partial \psi \mathbf{i} \sigma_3 - eA\psi = mc\psi\gamma_0, \qquad \sigma_3 = \gamma_3\gamma_0$

5.2. Lagrangian for Maxwell and Dirac-Hestenes Fields on a Gravitational Field Background

In the flat-spacetime formulation of the most general possible gravitational field theory (which includes curvature and torsion), this field is described by an invertible (1,1)-extensor field *h*, Section 3.

(a) The *dynamics* of a Maxwell field A generated by an electric charge current density J moving in a background gravitational field is postulated to derive from the AP and the following Lagrangian:

$$\mathscr{L}(A, \mathfrak{D} \wedge A) = \det(h) \left[-\frac{1}{2\mu_0} (\mathfrak{D} \wedge A) \cdot (\mathfrak{D} \wedge A) - A \cdot J \right]$$

Using the identities in the Appendix, we obtain that A and $F = \mathcal{D} \wedge A$ satisfy

$$\mathfrak{D} \sqcup (\mathfrak{D} \land A) = \mu_0 J, \qquad \mathfrak{D} F = \mu_0 J$$

(b) The dynamics of a DHSF ψ corresponding to a particle with mass *m*, electric charge *e*, and spin $\frac{1}{2}$ (i.e., a Dirac particle) is supposed to be governed by the *AP* with Lagrangian

 $\mathscr{L}(\psi, \mathfrak{D}^{s}\psi) = \det(h)[\hbar(\mathfrak{D}^{s}\psi\mathbf{i}\gamma_{3})\cdot\psi - e(A\psi\gamma_{0})\cdot\psi - mc\psi\cdot\psi]$

Using the identities of Appendix, we get that the DHSF ψ satisfies

$$\hbar \mathfrak{D}^{s} \psi \mathbf{i} \sigma_{3} - eA\psi = mc \psi \gamma_{0}$$

APPENDIX. FUNDAMENTAL IDENTITIES IN LAGRANGIAN FORMALISM

Proposition A.1. For all smooth multiform fields X and Y and 1-form field a, we have

$$(\partial \, \lrcorner \, X) \cdot Y + X \cdot (\partial \wedge Y) = \partial \cdot [\partial_a (a \, \lrcorner \, X) \cdot Y] \tag{A.1}$$

$$(\partial \wedge X) \cdot Y + X \cdot (\partial \square Y) = \partial \cdot [\partial_a(a \wedge X) \cdot Y]$$
(A.2)

$$(\partial X) \cdot Y + X \cdot (\partial Y) = \partial \cdot [\partial_a(aX) \cdot Y]$$
(A.3)

These identities are necessary in the derivation from the *AP* of the ELE equations for a multiform field *X* with dynamics governed by the LM $(X, \partial \,\lrcorner\, X) \mapsto \mathcal{L}(X, \partial \,\lrcorner\, X), (X, \partial \wedge X) \mapsto \mathcal{L}(X, \partial \wedge X), \text{ or } (X, \partial X) \mapsto \mathcal{L}(X, \partial X).$

Proof. In order to prove the identity (A.1), we use the definitions of divergence and curl of a multiform field and the identity $(a \sqcup B) \cdot C = B \cdot (a \land C)$, where a is a 1-form and B, C are multiforms,

Moya, Fernández, and Rodrigues

$$(\partial \,\lrcorner \, X) \cdot Y + X \cdot (\partial \wedge Y) = (\gamma^{\mu} \,\lrcorner \, \gamma_{\mu} \cdot \partial X) \cdot Y + X \cdot (\gamma^{\mu} \wedge \gamma_{\mu} \cdot \partial Y)$$
$$= \gamma_{\mu} \cdot \partial (\gamma^{\mu} \,\lrcorner \, X) \cdot Y + (\gamma^{\mu} \,\lrcorner \, X) \cdot (\gamma_{\mu} \cdot \partial Y)$$
$$= \gamma_{\mu} \cdot \partial (\gamma^{\mu} \,\lrcorner \, X) \cdot Y$$
(A.4)

but it is not difficult to transform the right side of (A.4) into a divergence of a 1-form field,

$$\gamma_{\mu} \cdot \partial(\gamma^{\mu} \lrcorner X) \cdot Y = \gamma_{\beta} \cdot \partial[\gamma^{\beta} \cdot \gamma_{\mu}(\gamma^{\mu} \lrcorner X) \cdot Y]$$
$$= \gamma^{\beta} \cdot \gamma_{\beta} \cdot \partial[\gamma_{\mu}(\gamma^{\mu} \lrcorner X) \cdot Y]$$
$$= \partial \cdot [\partial_{a}(a \lrcorner X) \cdot Y]$$
(A.5)

Putting (A.4) into (A.5) complete the proof.

The identity (A.2) can be proved by using (A.1) and the identity $(a \perp B) \cdot C = B \cdot (a \wedge C)$,

$$(\partial \wedge X) \cdot Y + X \cdot (\partial \, \lrcorner \, Y) = (\partial \, \neg \, Y) \cdot X + Y \cdot (\partial \wedge X) = \partial \cdot [\partial_a (a \, \lrcorner \, Y) \cdot X]$$
$$= \partial \cdot [\partial_a Y \cdot (a \, \land X)] = \partial \cdot [\partial_a (a \, \land X) \cdot Y]$$

Identity (A.3) can be proved by adding (A.1) and (A.2).

Proposition A.2. For all smooth multiform fields X and Y and 1-form field a, we have

$$(\mathfrak{D} \ \lrcorner \ X) \cdot Y + X \cdot (\mathfrak{D} \land Y) = \det(h^{-1})\partial \cdot [\det(h)\partial_a(h^{\star}(a) \ \lrcorner \ X) \cdot Y] \quad (A.6)$$

$$(\mathfrak{D} \wedge X) \cdot Y + X \cdot (\mathfrak{D} \lrcorner Y) = \det(h^{-1})\partial \cdot [\det(h)\partial_a(h^{\star}(a) \wedge X) \cdot Y] \quad (A.7)$$

$$(\mathfrak{D}X) \cdot Y + X \cdot (\mathfrak{D}Y) = \det(h^{-1})\partial \cdot [\det(h)\partial_a(h^{\star}(a)X) \cdot Y]$$
(A.8)

These multiform identities are necessary in order to derive from the *AP* the ELEs for multiform fields *X* with Lagrangian mappings $(X, \mathfrak{D} \sqcup X) \mapsto \mathcal{L}(X, \mathfrak{D} \sqcup X)$, or $(X, \mathfrak{D} \land X) \mapsto \mathcal{L}(X, \mathfrak{D} \land X)$, or $(X, \mathfrak{D} \land X) \mapsto \mathcal{L}(X, \mathfrak{D} \land X)$.

Proof. To prove the identity (A.6), we shall need to use two multiform identities relating the gauge-covariant divergence and the ordinary divergence, and the gauge-covariant curl and the ordinary curl, respectively (Fernández *et al.*,2000b),

$$\mathfrak{D} \sqcup A = \det(h^{-1})\underline{h}[\partial \sqcup \det(h)\underline{h}^{-1}(A)], \qquad \mathfrak{D} \wedge A = \underline{h}^{\star}[\partial \wedge \underline{h}^{\dagger}(A)]$$

and the multiform identity (A.1) above. We have

$$(\mathfrak{D} \ \lrcorner \ X) \cdot Y + X \cdot (\mathfrak{D} \land Y) = \det(h^{-1})\underline{h}[\partial \ \lrcorner \ \det(h)\underline{h}^{-1}(X)] \cdot Y$$
$$+ X \cdot \underline{h}^{\star}[\partial \land h^{\dagger}(Y)]$$
$$= \det(h^{-1})\{[\partial \ \lrcorner \ \det(h)\underline{h}^{-1}(X)] \cdot \underline{h}^{\dagger}(Y)$$
$$+ \det(h)\underline{h}^{-1}(X) \cdot [\partial \land \underline{h}^{\dagger}(Y)]\}$$
$$= \det(h^{-1})\partial \cdot [\partial_{a}(a \ \lrcorner \ \det(h)\underline{h}^{-1}(X)) \cdot \underline{h}^{\dagger}(Y)]$$
$$= \det(h^{-1})\partial \cdot [\det(h)\partial_{a}(a \ \lrcorner \ \underline{h}^{-1}(X)) \cdot \underline{h}^{\dagger}(Y)]$$
$$(A.9)$$

Given a (1,1)-extensor t over $\Lambda(\mathcal{M})$, its extension <u>t</u>, a general extensor over $\Lambda(\mathcal{M})$, is defined by

$$\underline{t}(X) = 1 \cdot X + \sum_{k=1}^{n} \frac{1}{k!} t(\gamma^{\mu_{j}}) \wedge \ldots \wedge t(\gamma^{\mu_{k}})(\gamma_{\mu_{1}} \wedge \ldots \wedge \gamma_{\mu_{k}}) \cdot X$$

Using the algebraic identity $a \perp \underline{t}(B) = \underline{t}[\underline{t}^{\dagger}(a) \perp B]$, where \underline{t} is the extension of a (1,1)-extensor *t*, *a* is a 1-form, and *B* is a multiform, we can write

$$[a \,\lrcorner\, \underline{h}^{-1}(X)] \cdot \underline{h}^{\dagger}(Y) = \underline{h}^{-1}[\underline{h}^{\star}(a) \,\lrcorner\, X] \cdot \underline{h}^{\dagger}(Y)$$
$$= \underline{h}\underline{h}^{-1}[\underline{h}^{\star}(a) \,\lrcorner\, X] \cdot Y = [\underline{h}^{\star}(a) \,\lrcorner\, X] \cdot Y \qquad (A.10)$$

Putting (A.10) into the right side of (A.9) completes the proof.

The second identity (A.7) can be proved using (A.6), the algebraic identity $(a _ B) \cdot C = B \cdot (a \land C)$, and following analogous steps just used in demonstrating the identity(A.2). The third identity (A.8) can be proved easily by adding (A.6) and (A.7).

Proposition A.3. For all smooth DHSF ψ and φ , we have

$$(\mathfrak{D}^{s}\psi)\cdot\varphi+\psi\cdot(\mathfrak{D}^{s}\varphi)=(\mathfrak{D}\psi)\cdot\varphi+\psi\cdot(\mathfrak{D}\varphi) \tag{A.11}$$

$$(\mathfrak{D}^{s}\psi)\cdot\varphi+\psi\cdot(\mathfrak{D}^{s}\varphi)=\det(h^{-1})\partial\cdot\left[\det(h)\partial_{a}(h^{\star}(a)\psi)\cdot\varphi\right]$$
(A.12)

Proof. To prove (A.11), note that for a smooth spinor field ψ , we have

$$\mathfrak{D}\psi = \mathfrak{D}^{s}\psi - \frac{1}{2}h^{\star}(\partial_{a})\psi\Omega(a)$$

With the DHSF ψ and φ , we can write

$$(\mathfrak{D}^{s}\psi)\cdot\varphi+\psi\cdot(\mathfrak{D}^{s}\varphi) = [\mathfrak{D}\psi+\frac{1}{2}h^{\star}(\partial_{a})\psi\Omega(a)]\cdot\varphi$$
$$+\psi\cdot[\mathfrak{D}\varphi+\frac{1}{2}h^{\star}(\partial_{a})\varphi\Omega(a)]$$
$$=(\mathfrak{D}\psi)\cdot\varphi+\psi\cdot(\mathfrak{D}\varphi)$$
$$-\frac{1}{2}h^{\star}(\partial_{a})\cdot\varphi\Omega(a)\tilde{\psi}-\frac{1}{2}h^{\star}(\partial_{a})\cdot\psi\Omega(a)\tilde{\varphi}$$

The last two terms yield zero,

$$\frac{1}{2}h^{\star}(\partial_{a}) \cdot \left[\varphi\Omega(a)\tilde{\psi} + \psi\Omega(a)\varphi\right] = \frac{1}{2}h^{\star}(\partial_{a}) \cdot \left[\varphi\Omega(a)\tilde{\psi} - (\varphi\Omega(a)\tilde{\psi})^{\sim}\right]$$
$$= \frac{1}{2}h^{\star}(\partial_{a}) \cdot 2\langle\varphi\Omega(a)\tilde{\psi}\rangle_{2} = 0$$

Equation (A.12) follows from (A.11) and (A.8). \blacksquare

REFERENCES

- De Leo, Stefano, Zbigniew Oziewicz, Waldyr Alves Rodrigues, Jr., and Jayme Vaz, Jr. (1999). The Dirac-Hestenes Lagrangian, *International Journal of Theoretical Physics*, 38, 2347–2367.
- Moya, Antonio Manuel (1999). Lagrangian formalism for multivector fields on Minkowski spacetime, Ph.D. Thesis, IMECC-UNICAMP.
- Moya, Antonio Manuel, Virginia Velma Fernández, and Waldyr Alves Rodrigues, Jr. (2000a). Clifford Multivector Fields and Extensor Fields, in preparation.
- Moya Antonio Manuel, Virginia Velma Fernández, and Waldyr Alves Rodrigues, Jr. (2000b). Gravitational fields as distortion fields on Minkowski spacetime.
- Hestenes, David (1966). Space-time Algebra, Gordon and Breach, New York.
- Hestenes, David, and Garret Sobczyk (1984). Clifford Algebra to Geometrical Calculus, Reidel, Dordrecht.
- Fernández, Virginia Velma, Antonio Manuel Moya, and Waldyr Alves Rodrigues, Jr. (2000a). Covariant derivatives on Minkowski manifolds, in: R. Ablamowicz and B. Fauser, Editors, *Clifford Algebra and Their Applications in Mathematical Physics, Volume 1, Algebra and Physics*, Birkhauser, Boston.
- Fernández, Virginia Velma, Antonio Manuel Moya, and Waldyr Alves Rodrigues, Jr. (2000b). The algebraic theory of connections, differential and Lie operators for Clifford and extensor fields.
- Lasenby, Anthony, Chris Doran, and Stephen Gull (1993). A multivector derivative approach to Lagrangian field theory, *Foundations of Physics*, **23**, 1329–1356.
- Lasenby, Anthony, Chris Doran, and Stephen Gull (1998). Gravity, gauge theories and geometric algebra, *Philosophical Transactions of the Royal Society*, **356**, 487–582.
- Lounesto, Pertti (1997). Clifford Algebras and Spinors, Cambridge University Press, Cambridge.
- Rodrigues, Waldyr Alves, Jr., and Marcio Antonio de Faria Rosa (1989). The meaning of time in relativity and Einstein's later view of the twin paradox, *Foundations of Physics*, 19, 705–724.
- Rodrigues, Waldyr Alves, Jr., and Quintino Augusto Gomes de Souza (1993). The Cifford bundle and the nature of the gravitational field, *Foundations of Physics*, 23, 1456–1490.
- Rodrigues, Waldyr Alves, Jr., Quintino Augusto Gomes de Souza, and Jayme Vaz, Jr. (1994). Lagrangian formulation in the Clifford bundle of the Dirac-Hestenes equation on a

Riemann-Cartan manifold, in: Patricio Letelier and Waldyr Alves Rodrigues Jr., Editors, *Gravitation: The Spacetime Structure*, World Scientific, Singapore, pp. 522–531.

- Rodrigues, Waldyr Alves, Jr., Quintino Augusto Gomes de Souza, Jayme Vaz, Jr., and Pertti Lounesto (1995). Dirac-Hestenes spinor fields on Riemann-Cartan manifolds, *International Journal of Theoretical Physics*, **35**, 1849–1900.
- Sachs, Rainer Kurt, and Hung-Hsi Wu (1977). General Relativity for Mathematicians, Springer-Verlag, New York.